Enkopings BS
ENA-Serien Rond 7:1 2012-12-13

IMP o6ver faltet, 8 bord, 16 par. Antal brickor: 12.

Plac Par Poadng Namn MID Klubb
1 101 2.55 Lennart Kohl - Ola Sédergran 9989 9994  Enkopings BS
2 302 1.99 Kjell Staffas - Johnny Sdderberg 34308 17984 Rattviks BS - Akers BK
3 104 1.76 Anette Maretics - Marguerithe Lundberg 24689 50146 Enkdpings BS
4 204 1.54 Ronny Erixon - Stefan Giertz 88442 88491 Enkdpings BS
5 201 1.24 Torsten Runebert - Mattias Aslund 9996 20593 Enkdpings BS
6 103 0.79 Goran Rangevall - Lars Ohlsson 2876 2795  Pited BS - Sigtuna BS
7 202 0.40 Peter Svensson - Hans Asander 802 2856  Enkopings BS
8 3 0.07 K-G Westlund - Mattias Jonsson 6634 22897 Enkopings BS
9 203 -0.07 Hakan Lindh - Per Eriksson 6055 19493 Enkdpings BS
10 2 -0.40 Krister Collberg - Ola Sarnkvist 17982 80001 Akers BK
11 303 -0.79 Lars-Erik Strand - Elisabeth Stanley 3985 8807 ABBBK
12 1 -1.24 Harry Gronholm - Robin Holmqvist 89983 35012 PRO Enkoéping Bridge - Enkdpings BS
13 4 -1.54 Brittmarie Frolén - Anita Ahlstrom 50144 16261 Enkdpings BS
14 304 -1.76 Lennart Schenning - Kerstin Schenning 82162 82161 Enkopings BS
15 102 -1.99 Kjell Jansson - Kjell Lindgren 12268 16259 Enkopings BS
16 301 -2.55 Britt Cedergren - Christer Cedergren 4088 4027  Koép En Sol
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3 203 44 N= vK 420 37.0 -37.0|101 301 2v O-3 48 150 26.0 -26.0|104 304 4v S= &9 420 64.0 -64.0
101 301 44 N= vA 420 37.0 -37.0({104 304 3v O-3 48 150 26.0 -26.0( 3 203 3vS= 49 140 18.0 -18.0
103 303 44 S= v5 420 37.0 -370( 3203 3« N= vK 110 17.0 -17.0| 4 204 3v S= ¢2 140 18.0 -18.0
104 304 44 N= K 420 37.0 -370( 1201 2vO-2 48 100 140 -140| 1 201 4vS-1 ¢3 -50 -20.0 20.0
2 202 34 S+1 ¥3 170 -5.0 50| 4 204 2#S= vK 90 12.0 -12.0| 2 202 4v S-1 &9 -50 -20.0 20.0
4 204 54 S-1 v5 -50 -44.0 44.0|103 303 2v O-1 a7 50 3.0 -3.0(101 301 4v S-1 +¢K -50 -20.0 20.0
102 302 44 N-1 vQ -50 -440 440| 2 202 3¢ S-2 w7 -200 -40.0 40.0|102 302 4v S-1 #9 -50 -20.0 20.0
1201 44 S-2 vJ -100 -55.0 55.0|102 302 34 N-3 ¥K -300 -58.0 58.0|103 303 4v S-1 43 -50 -20.0 20.0
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103 303 3NN= T 600 53.0 -530( 2 202 6#S= v6 1370 85.0 -85.0(103 303 1v V= &5 -80 140 -14.0
104 304 3NN= 48 600 53.0 -53.0| 3 203 3NN+3 42 690 -6.0 6.0 (104 304 1v S-2 #A  -100 70 -7.0
1201 3» O-3 4A 300 40 -40|101 301 3NN+3 42 690 -6.0 6.0 4204 3¢ O= &A -110 6.0 -6.0
101 301 3v V-3 T 300 40 -40|104 304 3NN+3 45 690 -6.0 6.0 (102 302 3¢ O= &A -110 6.0 -6.0
3203 2vO0-2 &2 200 -17.0 17.0| 1 201 3NN+2 4«4 660 -13.0 13.0| 1 201 INV+2 a2 -150  -3.0 3.0
2 202 3¢ S+1 v9 130 -31.0 31.0| 4 204 3NN+2 42 660 -130 13.0| 2 202 INV+3 ¢3 -180 -10.0 10.0
4 204 3¢ S+1 v9 130 -31.0 31.0|103 303 3NN+2 ¥vJ 660 -13.0 13.0| 3 203 INV+3 ¢3 -180 -10.0 10.0
102 302 3¢ S= v9 110 -35.0 35.0|102 302 5# N= &7 600 -28.0 28.0|101 301 INV+3 ¥3 -180 -10.0 10.0
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101 301 2vS= +A 110 47.0 -47.0|102 302 5vDS= ¢A 650 89.0 -89.0( 1201 4v N= «v5 420 0.0 0.0
102 302 2v S-1 ¢A  -100 9.0 -9.0|101 301 54DS= ¢A 550 78.0 -780( 2 202 4v N= &7 420 0.0 0.0
3203 34 O= +¢6 -110 80 -80(104 304 64S-2 ¢A -100 120 -12.0| 3 203 4v N= ¥8 420 0.0 0.0
4 204 3¢ O= &) -110 80 -80| 2202 64DS-24A -300 -17.0 17.0| 4 204 4vy N= 5 420 0.0 0.0
1201 INN-2 ¢4 -200 -13.0 13.0| 4 204 44 O= &A 420 -36.0 36.0|101 301 4v N= 97 420 0.0 0.0
2202 2vS-2 ¢A -200 -130 13.0| 1 201 44 O+1 #A  -450 -42.0 42.0|102 302 4v N= 7 420 0.0 0.0
104 304 3vS-2 ¢A -200 -13.0 130| 3 203 44 O+1 v4 -450 -42.0 42.0|103 303 4v N= 97 420 0.0 0.0
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103 303 INN-3 +¢5 -300 -33.0 33.0(103 303 44 O+1 v2 -450 -42.0 42.0|104 304 4v S= &T 420 0.0 0.0
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101 301 3v V-1 43 100 46.
2202 2v V= 43 -110

6 -46.0 1201 6vy S= &8 980 66.0 -66.0|103 303 6# N= T 1370 101.0 -101.0

9.
3203 3v V= &4 -140 1.

1

1

3

0
0 -9.0 ({104 304 6y N= 48 980 66.0 -66.0 2 202 5« N+1 T 620 35.0 -35.0
0 -1.0 3 203 4v N+2 «Q 480 -21.0 21.0|101 301 5#N= T 600 33.0 -33.0
4 204 3v V= a7 -140 .0 -1.0 4 204 4v N+2 «4Q 480 -21.0 21.0 3 203 4¢vDV-3 44 500 21.0 -21.0
102 302 2y V+1 43 -140 .0
1201 2NS-2 YA -200 -13.0
103 303 3#S-2 vK -200 -13.0
104 304 3#S-3 YA -300 -32.0

-1.0 (101 301 4v S+2 «8 480 -21.0 21.0 1201 4¢ S+2 &7 170 -29.0 29.0
13.0 (102 302 4v N+2 «Q 480 -21.0 21.0| 4 204 34 S+1 &7 170 -29.0 29.0
13.0|103 303 5v N+1 «Q 480 -21.0 21.0|102 302 64 N-1 2 -100 -66.0 66.0
32.0 2 202 3NN+2 «Q 460 -27.0 27.0|104 304 64 N-1 2 -100 -66.0 66.0
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